1. sinAcotA =cosA 4. (1+tanA +tan? A)(1 — cotA + cot?A) = tan?A + cot?A + 1

2. (1—cos?4A)(1+ tan?4) = tan?A 5. cosec*A(1 — cos*A) — 2cot?A =1
1+cosA 1-cosA cosec A+cotA secA—-tanA
— = 4cotAcosecA . =
1-cosA 1+cosA secA+tanA cosecA—cotA
1
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7. cosAtanA =sind

10. sin?A + (1 + cosA)? = 2(1 + cos A)

8. tanAcos AcosecA =1

11. tan A + cot A = sec A cosec A

9. sin*A + cos*A =1 — 2sin®*Acos?A

12. 5 —3cos?A = 2 + 3sin’A
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13, 54 L G A = tan A secA 16. (cos2A + sin2A)* + (cos2A — sin24)? = 2

* cos34

1 1

i i 17. + = 2cosec?2A
14. tan A = sinA+2sinAcosA 1+cos24  1-cos24
1+cos A+cos2A-sin2A
5 ) zmng .
15. 1 — 3sin“2A = 3cos“24 - 2 18. % = Sin4
1+tan25
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19. sin34 = 3sin A — 4sin3A

3tanA—tan3A

20. tan 34 =
1-3tanZA

2tan A—sin2A

ST = tan4A
2 cotA—sin2A
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sin A+sin 24

.———————— =tand
1+cos A+cos 24

tan3A _ 2cos2A+1

23 =
tan A 2c0s2A-1

24. 1 + tanAtan% =secA



sin 24
' 1-cos24

secA-1 2 A
. ——— =tan“ -
secA+1 2

tan2A—-tan A

S = tanZA
cotA+tan 24
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